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Language — Part I — HINDI — Paper II

Time Allowed : 3 Hours ] [ Maximum Marks : 80

Yo (1) BIR B Todl % A0 9w T w S B Al e ¥ R e TR g, @ qid s
Tages &l gfed #¥|
(2) S TG FH A e D H @ gET FHfw

1. frfafea 4 @ feadt v fawa w amm d 4@ vl  frery fafag 1x15=15
1. fu kR
2. Hfedl @ @y ik it
3. FEH
4.  GHMER U
II.  frafafed 4 @ et semt &1 I/ s & @) v= 3 fafeu . 1x15=15
5. ¥R &I 9
6. s faarl 1 3m
7. % & gEd
8.  URHIHI 1 el
. 93 oA . 1x10=10
9. foran # wreger SR s=XT 1 Wew UHEN g¢ A iy # wF ¥ fafau)
3rerar

10. T T giedl F gwe A gu firy 1 v w3 fafan

[ Turn over
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IV. 11. Trfafed T=ie & g e 5T e g9 & I i : 5x2=10

T A9 79 & foar SR el w a0 & for Wi w1 wer @ §1 Wi
HAG-Ta &% 19 g & € H F19 HIdl & | W19 1 Sier-a1el &1 &9 ' e’ Faam g
QT AT T ST ST et et €1 sl H e fodiy % wee S S §1 9@
STt AT & SR T 9T o THdl § 1 HT61 1 9isha 9, forgest s 8 g,
Hifefcaess w1 sl 1 ol B 1 foRdt ot s =1 s e Sueh! wifefaes wiafafiml &
MR R B 1 78 R ¢ foh o oft Weha wiwn gaes gt oft a7 ¥ | shiferere, areiiat
S HEH HfaTull 3 Hehd <A HT YA FHTH H BN U Aeihd FAT| SHET 4R
FHIT & I IFANG-HTe T ST-HH S @ |

IWL : (IH)

(31) WM FTR?

(1) St 9T e St § 2

(3) TEHd AW T T fo¥ivar § 2
(3) T oI 1 FiQ1 @1 el |9 © 2
(3) 39 TV HI IYE < |

V. 12. T=fafaa &t 9y sifea . 5x1=5
(31) Frg + ey
(3m) 9fd + T
(3) ®WRI+3%
(3) A+3m
(3) 3 + =R

13. Frfafaa =1 gfa-faweg wifee . 5x1=5
(31) =TI
(1) =T
(3) HevR
(%) wRuHER
(3) W=



VI. 14.

VII. 15.

VIILI. 16.

3

=1 w=si & gu-foue w5t ™ SqE

(31) YR
CHEGRIE
(3) wIHS
(3) =R
(3) o+
frerfafea ol = TR sas fafey
(21) e 9= fere |
(dar=g # fafan)
(3T) &H TSl 1 HEQ HTl «liey |
(5 FI)
(3) T TH Hiaar 9ei |
(wferaqera # fafaw)
(3) foarsh Tw < B
(IRomefe fomam =1 TR HISY)
(3) forem g & T R 1
(= a5
e vredl & foredl <@ & et vt fafa
(i) Airforce (ii) Police Station
(ili) Watchman (iv) Transport
(v) Inspector (vi) Attendance
(vii) Appointment (viii) Quarterly
(ix) Primary (x) Superintendent
(xi) Headmaster (xii) Gazette
(xiii)) Research (xiv) Vice chancellor

(xv) Authority
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5x1=5

5x2=10

10x%2=5



